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1). SIUUATITVUTANNIRTINAY 1,200 Alandy gaguanaisutssinagign G uwam Tauissiign P

UwBanrY 6 m/s® adduimiunTsl iz nigasasi 4 nasynuaiw t aNLsiImee. (20 points)
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2). The small object of mass m is placed on the rotating conical surface at the radius shown. If the
coefficient of static friction between the object and the rotating surface is 0.8, calculate the maximum
angular velocity « of the cone about the vertical axis for which the object will not slip. Assume very

gradual angular velocity change. (20 points)
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3). srunylauszalSea13d UiznavdqnalismasdaiivensBass (undeformed length) Lvinu 250
Jafiuuas uazdaen (collar) 438 6 Alaniy SududaangnnauualSesaarsliguaiadld 125 Tafwas
vinuwldeslivasnindondlunwiunwlunsznuiusySeiiun dlafsewnsadaenuiyniadude

Tz fzdaduugnnanasndssslidasnieRauiilinaznuy (20 points)

250
mm

k= 1750 N/m

k= 8400 Nim
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4). By the work&energy method, please determine the speeds of both masses after £ has moved

1 m. Neglect the friction and the masses of the pulleys. (20 points)
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5). The steel ball strikes the heavy steel plate with a velocity v, = 24 m/s at an angle of 60° as shown.

if coefficient of restitution e = 0.8, please determine the velocity v and @ which the ball rebounds

from the plate. (20 points)
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